GWP

o B) - GWP
o < -
WP
PEC_41-12 7,500
GWP
0 GWP
1095 | 1996 | 1997 | 1998 | 1999 2010 2010
T 20l 40l 30 50 30 230 23.0
GWP 00 00 00 00 00 02 0.2
1095 | 1996 | 1997 | 1998 | 1999 2010 2010
T 04 08| 11 16 19 165 165
GWP 00 00 00 00 00 0.1 0.1
1095 | 1996 | 1997 | 1998 | 1999 2010 2010
T 00 o1l 02 04 05 16 16
GWP 00 00 00 00 00 0.1 0.1
1095 | 1996 | 1997 | 1998 | 1999 2010 2010
T 24 49| 43 69 54 558 55.8
GWP 00 00 00 01 00 0.4 0.4
x X PFC
X
GWP x GWP
x X PFC
PFC s PFC
X
> X
GWP x GWP
s PFC
X
> X
X
GWP x GWP

o7




1995 | 1996 | 1997 | 1998 | 1999 2010 2010
kg/kg 001 001 001 001 001 0.01 0.01
(A) 1998 B)
PEC
1995 | 1096 | 1997 | 1998 | 1999 2010 2010
400l 400l 300 500 _ 300 2,300 2300
PFC
(A
PFC
(B)
1995 | 1096 | 1997 | 1998 | 1999 2010 2010
ka/kg 0001 _0.001] _0.001] 0001 _0.001 0001 3000
(A) 1998 B)
PFC
1995 | 1996 | 1997 | 1998 | 1999 2010 2010
399 _797] 1004] 1589 1883 16,476 16476
2 x
1995 | 1996 | 1997 | 1998 | 1999 2010 2010
05 12 21 35 54 164 164
2 x
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1995 | 1996 | 1997 | 1998 | 1999 2010 2010
04 11 19| 32 48 147 47
10 15 20 75 30
092 076 o050 024 008/1-fx p, o)
002 004 o008 00s| 0.02fx p,0)-fx-1 p o)
008 024 o0s0] 076 09ffxp.0)=l/ @no A1/2) *EXP(-(X-u )'2/20 "2))
20
20 7
X
u 20
] 7
1995 | 1996 | 1997 | 1998 | 1999 2010 2010
ka/kg 000l 090 090 090 090 0.90 0.90
A) 1998 (B)
A 7 2000
B 5 1098
C
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